Answer |:

This answer was one of the trickiest but we found out by a trial and error.This
answer took us around a lot of twists and turns and it eventually led us to the
following answer. On the bottom dice the numbers were 3 and |. On the middle
dice the numbers were | and 3. On the top dice the numbers were | and 4. On
the top of all the dice the number was 5.

Answer 2:

This answer was the easiest. This answer came naturally. From the second that we
placed the dice the rest of the answer just flowed.The answer is as follows,
bottom dice, 2 and 6, middle dice, 2 and |, top dice, | and 2. On the top of all the
dice was the number 4.

Answer 3:

This answer took us two days after the first two answers.This answer was by far
the trickiest. It was so tricky it took us two whole days to get it. This answer was
the most challenging. The answer was as follows: bottom dice the digits were 2
and |.The middle dice a digits were 5 and |. On the top dice the digits were 5
and |. On the top of all the dice was the number 3.

Answer 4:

This answer was , in Harry and my perspective, was the one was between answer
2 and 3. It came pretty much straight after the answer 3. It was pretty much "try
this." "oh it works." The answer is as follows. On the bottom dice the digits were
2 and 4. On the middle dice the digits were 4 and 2. On the top dice the digits
were 3 and 2. On top of all of those was |.

Did Any Puzzles or Questions Arise From This Puzzle?

Jack: One new question arose from this puzzle for me. | really have a circulating
question from all the puzzles that | do.What exciting puzzles are coming.



